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Percentage

1. The population of a village is 10000 at this 1. U TIg B} SHHTAT S AT 10000 g1 Ugar 99 &

moment. It increases by 10% in the first year. 3'\‘11?[ 10% @I Q'@ gidt |1 TN, §'\‘ﬁ' ay ¥,

However, in the second year, due to ATYARIA & HRU 98 A 5% ot fRmae GI'I"'-f.I
immigration, the population dropped by 5%. oY ¥ & 3fd § SHSE J1d Pifore afe GIGEECL]
Find the population at the end of the third year H S S ° 20% aﬂq@'@?ﬂ%l
if in the third year the population increases by
20%.
a. 12340
a. 12340 b. 12540
b. 12540 c. 13540
13540 d. 370 I P ol

None of these

=
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2. Ramesh spends 20% of his monthly income on 2. IHTT U HIRI® 3T BT 20% mmwwm
his household expenditure, 15% of the rest on Hdl 8, WY BT 15% J&I®| IR, Y BT 30% HUST IR
books, 30% of the rest on clothes and saves the oY hIdl % 3R 9B I AT %I M TR 39 uarn
rest. On counting, he comes to know that he IdT fop MR PR ITA 9520 FUA IdT ﬁl‘Q %'I JAB!
has finally saved Rs. 9520. Find his monthly  HAIRY® 3T JTd HIWI

income.

a. 10000 a. 10000
b. 15000 b. 15000
c. 20000 c. 20000

-

None of these d. 3‘-—I’ﬁ | ﬁ;‘ T8l
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3. In an examination , Mohit obtained 20% more 3. T®% UH&T H, Aifdd & JRId A 20% 3Siftd afp
than Sushant but 10% less than Rajesh. If the IO F 10% FH 3P YT gid 81 afe JRId §RT
marks obtained by Sushant is 1080. Find the  3ifSid 3i% 1080 g, o I=i¥ gRT 3ifotd ufaw siw
percentage marks obtained by Rajesh if the full Td BT, Hﬁﬁ 3i% 2000 B
marks is 2000.

a. 86% a. 86%

b. 72% b. 72%

c. 78.33% c. 78.33%

d. None of these d. Etlff q aﬁz{ =I'6pf
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4. Mr. Banarjee is worried about the balance of 4. #} 95l 3[U_ HIfY® v & Tgad & foe fifaa 21

his monthly budget. The price of petrol has
increased by 40%.By what percent should he
reduce the consumption of petrol so that he is

able to balance his budget ?

a. 33.33

b. 28.56

. 25

d. None of these

Uia @t Fad & 40% Ft IS TA 313X WA Ft
Gud feaq ufaxra &9 «-1 9w aife a8 s
qoic Jgferd o Ib?

a. 33.33
b. 28.56
c. 25

d..sﬂﬁﬁﬁiqﬁ
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5. In question 4, if Mr. Banarjee wanted to limit 5. UY 3T 4 #, gfe St a9SIf oru= oag | Q'@ 3l ﬁ@ﬁ

the increase in his expenditure to 5% on his
basic expenditure on petrol then what should
be the corresponding decrease in consumption

so that expenditure exceeds only by 5% ?

a. 33.33

b. 28.56

c. 25

d. None of these

R U & 99 W 5% P G ¥@HT 918d 8 al
SUHRT # de=ut fha- s g+l arfee arfe oaa
®ad 5% I AP g7

a. 33.33
b. 28.56
c. 25

d..sﬂﬁ@raﬁ'éﬂé’f
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The height of a triangle is increased by 40%. 6. T®H ﬁ‘{-ﬁ[ G| Vmﬁ 40% §¢ SITeit 21 3TYR Bt FIEITs:

What can be the percentage increase in length # foraq ufa=a @t s s G@dl § daife aawa |
of the base so that the increase in area should gfs 60% &1 SITe?

be 60% ?

a. 50% a. 50%

b. 20% b. 20%

c. 14.28% c. 14.28%

d. None of these d. 3?1?[ | aﬁ'é el
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7. The length, breadth and height of a room in 7. 9914 & PR & U PHY I ?Wl's: iﬁ?ﬂg’ 3R
the shape of a cuboid are increased by 10%, SUTs H PUR: 10%, 20% 3N 50% Bt gieg Pt SITet
20% and 50% respectively. Find the percentage %I T & 3ad= fruﬁmatrha?hm Hﬂﬁrlt{l

change in the volume of the cuboid.

a. 77% a. 77%
b. 75% b. 75%
c. 88% c. 88%
d. 98% d. 98%
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8. The price of sugar is reduced by 25% but in ¢ Hf 5% %0g 25% HO R I G o e I i B
spite of the decrease, Aayush ends up CIEE an-g-qiﬁ:ﬁq-\r 39 I H 20% q@ H odl

increasing his expenditure on sugar by 20%. 21 ITB! AT DI ATRIE STHNT & fodq ufa=ra a1
What is the percentage change in his monthly tlﬁﬂ?h'g'\’fﬂ 2

consumption of sugar ?

a. +60% a. +60%

b. -10% b. -10%
o e c. +33.33%

d.

None of these d. 374 A B 8l
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The price of rice fell by 20%. How much rice 9. IIdd B! HHd H 20% $ R 3T 1 S o7
can be bought now with the money that was Ugd 20 frdl Irad Wiied & fow yaitd o1 399 3|

sufficient to buy 20 kg of rice previously? CGEIRIENI E‘ﬂg‘[ SIT b dl %?
a. 5kg a. 5 fur

b. 15kg b. 15 f&uT

c. 25kg c. 25 forur

d. 30kg d. 30 foam
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10. Vicky’'s salary is 75% more than Ashu’s . Vicky 10.fdF®t &1 a4 SR ¥ 75% 31w g1 fagst & da |
got a raise of 40% on his salary while Ashu got 40% DI q@ gl 8 wafe SR & dad H 25% @i
a raise of 25% on his salary. By what percent is q@ gidt 81 APt &1 aaq SR & dad 9 fraq

Vicky’s salary more than Ashu’s? gfa=ra Sifs &2
a. 96% a. 96%

b. 51.1% b.51.1%

c. 90% c. 90%

d. 52.1% d. 52.1%
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11. An ore contains 25% of an alloy that has 90% 11.U® 34¥D | 25% oy YTd gidr 8 forad 90% dter
iron. Other than this, in the remaining 75% of gaT gl SH® 3Tal Y 75% 3D § BT T8l g1 60

the ore, there is no iron. How many kilograms feium g gt U w4 & feorg fba feaum™
of the ore are needed to obtain 60 kg of pure TP 1 ATAYHdT gHIT?

iron?
a. 250 foum
a. 250 kg b. 275 f&m
b. 275kg c. 300 faT
c. 300 kg d. 266.66 fHIT
d. 266.66 kg
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12. At an election, the candidate who got 56% of 12.¥® dld #, oy Iudfigar &I STa ¢ |dl § | 56%
the votes cast won by 144 votes. Find the total ud firet, 98 144 wdal 9 Sfiad wam afe 80% @RT A
numbers of voters on the voting list if 80% Ader far SR DI 3aY T T8l T, Y A '\‘ﬁﬂ
people cast their vote and there were no H Adgarsii aﬁﬁmﬂﬁﬂﬂml

invalid votes.

a. 360 a. 360
b. 720 b. 720
c. 1800 c. 1800
d. 1500 d. 1500
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13. In an election between two candidates, Bibhas 13.33f B'Flﬂail'lﬁ & d9 TP -Id ﬁ U™ Bl P ag
gets 65% of the total valid votes. If the total Hdl BT 65% foear g1 afe P Hd 6000 q, @t P
votes were 6000, what is the number of valid Adal § ¥ 25% 3AdY °ifvd g W W SHilgar
votes that the other candidate Manish gets if A1y &1 fhaq 9y Ha firer

25% of the total votes were declared invalid ?

a. 1625 a. 1625
b. 1527 b. 1527
c. 1575 c. 1575
d. 1525 d. 1525
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14. A number is mistakenly divided by 5 instead of 14.U% BT &I Tl | 5 | UM HA & §ollT 5 §
being multiplied by 5. Find the percentage  fIHIfoTa ®= faT SITar 81 59 Tadt & HRUT URRUMH

change in the result due to this mistake. # ufa=ra uftad= g1d S|
a. 96% a. 96%

b. 95% b. 95%

c. 2400% c. 2400%

d. can'tsay d. gl gl o Jbdl
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15. In a medical certificate, by mistake a candidate 15 Afgsa Aiéfpde A v sngdl A Tadt A g
gave his height as 25% more than normal. In WWQZS yfaerd Sa1eT 9d1 faar| mﬂ:ﬁr
the interview panel, he clarified that his height A I 91w fHar f& I3t grse 5 wie 5 59 gl
was 5 feet 5 inches. Find the percentage Al gRT IYP! IdTs T SHdTs § ITB! IRA[dD
correction made by the candidate from his mwﬁﬁmwmﬁmmaﬂm|

stated height to his actual height.

a. 20
a. 20 b. 28.56
b. 28.56 c. 25
c. 25 d. 16.66

=

16.66
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16. In an examination, 80% students passed in 16 u® Udtem A 80% faemdf Wifast A 70% ™A
physics, 70% in chemistry while 15% failed in fagm o S<ivl gid & Safe 15% il fawal | Srwiivf
both the subjects. If 325 students passed in g 21 afe 325 faendt <=1 fawat o Sl gui wdten
both the subjects. Find the total number of o IufRa g1 arer faenfiat 1 oA I=AT [

students who appeared in the examination. T

a. 500 a. 500
b. 400 b. 400
c. 300 c. 300
d. 600 d. 600
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17. In a town, 45% of the population read 17 UH TG 'l?f, 45% SEISIT UPT A tIET'ﬁ %,
magazine A, 55% read magazine B, 40% read 55% UR®HT B qg-‘:ﬂ %' 40% UPT C 'qg?ﬁ %,
magazine C, 30% read magazines A and B, 15% 30% TRPT A 31X B Ued) % 15% Uf®T B 3R

(o] L [} (Y
read magazines Band C, 25% read magazines A C qa_cﬁ% 259 BT A 3N C tl%?‘ﬁ% 3N 10%
y (4 C ' )
and C; and 10% read all the three magazines. ' -
A I ufeTu uedt g1 foaa ufa=ra &Rt &g

What percentage do not read any magazine?

a. 10% a. 10%
b. 15% b. 15%
c. 20% c. 20%

d. 25% d. 25%
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18. In a class, 60% of students are from India and 18.Th HElT H 60% faemdf yRa @ % 3R 50% faemat
50% of the students are girls. If 30% of the E@%ﬂ}f %'I gfe 30% HRd et FIS'W% G|
Indian students are girls,then what percentage WWWWWW%’

of foreign students are boys ? UPSC PT 2021
UPSC PT 2021

a. 45% a. 45%

b. 40% b. 40%

c. 30% c. 30%

d. 20% d. 20%
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19. If the price of an article is decreased by 20% 19.9f¢ &t a¥q] B P 7 20% B HHI Ezl?ﬂ % MR
and then the new price is increased by 25%, : Hﬁﬂﬂﬂaﬁzs% aﬁq@aﬁg‘rmﬂ’r%a‘raﬂnﬁﬁ

then what is the net change in the price? R[& uf¥ad= fed=r %?
UPSC PT 2021 UPSC PT 2021
a. 0% a. 0%
b. 5% increase b. 5% P1 Q'@
c. 5% decrease c. 5% B HHL

d. Cannot be determined due to insufficient d. 3T SeT b BRI ﬁ%ﬁﬁ‘dﬂﬁmﬁnm
data
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20. The increase in the price of a certain item was 20.T®% fAf¥d avg ®t FHd | 25% I gfs gl 31 b=
25%. Then the price was decreased by 20% and S & 20% B HHI DI AT 3R BT 10% Ht q@
then again increased by 10%. What is the CARIGI] % | S1aq § gyt q@ frat Gzl?ﬁ %?

resultant increase in the price?

UPSC PT 2022 UPSC PT 2022
a. 5% a. 5%
b. 10% b. 10%
25% c. 125%
d 15% d. 15%
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21. When 70% of a number x is added to another 21 .§q &l IS=T x BT 70% fHFAT =T IE=T y A Gﬁg‘[
number y, the sum becomes 165% of the value SITdT §, <1 O y & HIH BT 165% Bl S1dT 8 | S J&AT
of y. When 60% of the number x is added to x BT 60% B 3= TWT z H SNST SITaT §, o TNT 2
another number z, then the sum becomes & A BT 165% Bl orar 21 fFafafad & & s9-a1
165% of the value of z. Which one of the el a2

following is correct? UPSC PT 2022
UPSC PT 2022

a. zZ<X<y a. Z<Xx<y
b. x<y«<z b. x<y«<z
C. y<X<z C. y<X<z
d z<y<x d z<y<x
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22. Two candidates X and Y contested an election. 22 3 IFfiGaR X R Y A TP g-1d dST1 80% Hagrarsii
80% of voters cast their vote and there were no A AacH fpar R oI Ht @y |d g U1l Aer
invalid votes. There was no NOTA (None of the RUdd H § PIg o)) BT PIg [Abed Aol ATl X B
above) option. X got 56% of the votes cast and STl 70 Hdl A A 56% Ad f4d 3R 98 1440 Al @
won by 1440 votes. What is the total number SiGERIC TR GEHGH '\q\iﬂ s | od Hdcdarsli &t Il

of voters in the voters list? fPal 22
UPSC PT 2022 UPSC PT 2022
a. 15000 a. 15000
b. 12000 b. 12000
c. 9600 c. 9600
d. 5000 d. 5000
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23. A pie chart gives the expenditure on five 23.U®% gx 3G H UH TR H Ui 3IHI-3IERT Hel A, B,
different items A, B, C, D and E in a household. C,D erﬁ? ER O Bl EQﬁ?lT %I ‘qﬁ B,C, D Gﬁ? E
If B, C, D and E correspond to 90°, 50°, 45° and hHTT: 90°, 50°, 45° MR 75°F =Y % Gil Hg AR
75° respectively, then what is the percentage g T ufa=d fear 22

of expenditure on item A? UPSC PT 2022
UPSC PT 2022

a. 112/9 a. 112/9

b. 125/6 b. 125/6

c. 155/9 c. 155/9

d. 250/9 d. 250/9
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